. Calculate lower quartile from the following values :
6, 9, 10, 12, 18, 19, 23, 24, 28, 37, 38, 49, 53, 60
= 9% ol 9 e =qeds 9w

6, 9, 10, 12, 18, 19, 23, 24, 28, 37, 38, 49, 53, 60
. Explain the following :

(1) Type I error and Type II error

(i) One-tailed tests

freifera =1 THEmRT

() vem =ifc =t Afe a fgdm wife =1 Fqfe

(il) TH-T= R

. Explain analysis of variance in one-way
classification.

THITE aFhLo § OO fageioor &1 99sis |

. Calculate consumer price index from the following :

Groups B C D E F
Group Index 352 220 230 160 190
Weight 48 10 8 12 15
frifra | U Joa YowiH FA RIGT
e B C D E F
Ui CEaED 352 220 230 160 190
TR 48 10 8 12 15

. Explain the method of writing Bibliography.
ot faem & Th% 1 aHemsu |
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Time : 2 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - 7w g ‘e’ SR ‘F ) wel # fawfea ¥ v
Tue & FRUgER ¥e9 & SW S|

Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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Fodo o

1. (1)

(i)

(i)

(iv)

)

(vi)

TUg—3

(atfa &g 3T ue)
[t Y9 % IW AT ST T IW 1 TEALEIR
Th I, Th a6 A1 Afeshan 30 Teal § R
HITC | J&F T 2 TR A1 T

Explain circular diagram.
gd o= &1 9ueET|
Define Median.
HrfeeRt sl aRwIfoa SIS
Calculate range from the following :
20, ()20, 18, 16, 5
= i ¥ fawr I wifsw
20, ()20, 18, 16, 5
Write down formula of calculating correlation
by Spearman’s ranking method.
TERET wife o=<R fafy 9 sy 9 & &
o fafem

Explain semi-average method of measuring
secular trend.

HaHSEE 9gfd A9 &1 AG-Heasw AT I9esT |

Define quota sampling.

s Freef &1 aRifm wifsw

(vil) What do you mean by approximation ?

Afehed § 39 =1 9EEa § 7

(viii) What is meant by references ?

e ¥ ¥ gHEa © ?
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Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
g —d
(g ST u9)

faor .- fF=l 9/ Al & SR SN S et SW W

AfereRas 200 gl W 9REfgg wifSw) s 99a
16 37 1 ¥

2. Find correlation coefficient from the following :
N = 8, mean of X = 68, Mean of Y = 69

Sum of squares of deviations of X from mean
= 36, Sum of squares of deviations of Y from
mean = 44, Sum of products of deviations of X
and Y = 4.

frIfRa | eEwrY U A SIS

N = 8, X ¢ & GARR Wed 68, Y U8 1 THRR
e = 69, X & A" ¥ fogem ot w1 S = 36,
o & e § famer ot 1 A =44, X SIRY &

MCOM-05/ 610/ 4 (3)

foraeri & TUATRE ®1 AR = 41
. What is Research ? Describe its limitations.
WY A ? THH! HHST 1 G0 i |

. Calculate the two regression equations. Given :

X=48,Y=55 06,=4,0,=51r=+08

S WA RO T it | fer gem ¥

X=48,Y=55 06,=4,0,=51r=+08
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